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PUBLIC ADMINISTRATION

Time Allowed: 3 Hrs. Max. Marks: 250

Instructions to Candidate

* There are NINETEEN questions. All Questions are compulsory.

* Answers must be written in the medium authorized in the Admission certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) booklet in the space
provided. No marks will be given for answers written in medium other than the authorized

one.
*  Word limit in questions, wherever specified, should be adhered to.

* Attempts of questions shall be counted in chronological order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left
blank in the answer book must be clearly struck off.
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1. A close examination of Weber’s model shows that it contains some contradictions

Examine. (150 Words) (10)
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2. Civil Service neutrality is a matter of the past. Comment. (150 Words) (10)
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3. Unity of command does not actually exist and cannot be established i eal organization.
Explain. (50W d)()
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4. Explain the ‘de-personalization of order’ and ‘re-portionalization of order’ happened to

be based on the law of the situation with suitable administrative examples.
(150 Words) (10)
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5. It has been generally experienced that the larger the number of subordinates reporting
directly to an executive the more difficult it is for him to effectively supervises and
coordmate their activities. Justify your answer will a suitable example.-l-organisational
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6. If organisational disintegration is to be avoided decentralization must be tempered with
selective centralisation. Comment. (150 Words) (10)
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7. MP Follett was never a systematic writer RJS Bakar. Comment. (150 Words) (10)
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8. Coordination without cooperation and cooperation without coordination is detrimental to
the organisation. Substantiate your answer. (150 Words) (10)
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9. Disciplinary action is one of the means to ensure organisational efficacy. Hot Store
Rules help to maintain organisational discipline. Describe. (150 Words) (10)
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10. Contribution originates in the need of an individual. Explain in terms of contribution-
satisfaction equilibrium. | (150 Words) (10)
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1

Neo-classical theory adopts the basic patterns of the classical theory but it has modified
them by superimposing upon them the role of people acting independently or within the
context of the informal organisation. Critically analyse. (200 Words) (15)
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12. By mixing the productive efficiency of each worker Scientific Management would also
maximise the earnings of workers and employers. Hence all conflict between capital
and labour would be resolved by findings of science. Analyse. (200 Words) (15)
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13. While ‘economic man’ maximises, his cousin ‘administrative man’ satisfies. Analyse.
(200 Words) (15)
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14. Theory ‘X’ might be more suitable in some crisis situation but less appropriate in routine
and formalised situations in developing countries like India. Theory ‘X’ may still be
useful at lower levels of organisation. Do you agree? (200 Words) (15)

Remarks




[EJSCORE ‘

Remarks



[EE}SCORE

Remarks



[EJSCORE

lSWht e the objectives of performance appraisal? Recommend for improving performance
appra lytmilld (200W rds) (15)
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16. Civil Service Activism is a deviation from the principle of civil service neutrality and
anonymity. What are its limitations in the Indian scenario? (200 Words) (15)
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(250 Words) (20)
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18. From Taylorism to Mayoism the organisational theories have traveled a long road in the
quest for organisational effectiveness. Describe. (250 Words) (20)
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19. Corruption has become a universal phenomenon. are the legal measures available
to tackle corruption in India? Are they capable tackling it? (250 Words) (20)
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